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Hrgd 9 vl A A(-1,4),B(-3,-1),C(5,-1), D(a,b) & °]F
A=

AT ABCD 7} Jl%!W FL M, a+b S 27

@5 @ 7 ® 9 @u o1
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BC & x Sl asta do|7t golng

Zo|7} gojojof stE =
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3. oS 139 Az ABCD Ol ot s+ A
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AABE &= o] 5847zt o| B2 /EAB = 40°°]1, /EAD
130° o]t}

AEAD & o] 5HAIZ ol B2 /sy = 25° o]t}

Ly =25° /0ODC = 65° = /OBC°| B2

/DOB + £OBC + /BCD + /CDO = 360°
/x=360°-90°—65°—65°=140°

" Lx+ Ly =165°
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AABC ¢t AEDA 9|4 /DAE = /ECB(92Z) , /B = /Do|E2
AABC @ AEDA (AA E2)
E:@:E:ﬂ, 12:18=x:8
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AC:BC=EA:DA, (6+y):18=6:8
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web = 2 x = 40 oI,
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AABC ACDE°|| A /BAC + /BCA = 90°

/BCA + /ECD = 90°, /ECD + /CED = 90° °|22 /BCA =
(CED, /BAC = /DCE

AABC @ ACDE(AA &)

3:x=4:(x+2)

4x =3x+6

. x=06
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EP // BC ©]|2& /APE = /ACB = 42°
(EPC = 180° —42° = 138°

AD // PF o]B& /FPC = /DAC = 53°
/APF =180° - 53° = 127°

- /.EPC — /APF = 138°-127°=11°




o 192 £C =90° Q1 AZH2Edolal A D = A 9 Ol%%ﬁﬂ
BC 9te] wHoltt. AB = 10cm, BC = 8cm, AC = 6cm & o,
AADC 9] go]& F6HH?
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8. T I®olA AB//EF//CD ¥ o, xy 9] 3t2?
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AACD 94 AE: AC=EG: CD
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9. ™% 1¥lA AB, EF, DC+ 25 BCo| =#]o|t}. o]uf, DC <]

Zdol=?
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GCIP 4cm
B F C

@ 10 @ 11 @12 @ 13 ® 14

~&B )

AABC ¢} AEFC ©] ti5le] /ABC = (EFC , (ECF = F50|2
EEANYE 2 EP0| H3H=6:4=3:29|th
BC:FC=3:202E2 BF:FC=1:2,BC:BF=3:1
ojr}.

ABCD ¢} ABFE ] tiste] B+ 5%, /BFE = /BCDo|E&
F AL @2 Tolal H3Hl= 3 10]th

f=
T x=4%x3=12




10. oS 2994 AD//BC ol 4 M,N 2 Z}Z} AB

CD
OAMND = 28cm? ¢ o, DMBCN 9] Yo]& Fa}oia},

_-6cm< _

A D

>
> HE: 36 cm?

MN = %(10+6) — 8 (cm)
OAMND oA Eo]& h 2t 5}
(8+6)xh+2=280°]0F

h =4 (cm)
2 OMBCN = (10 4 8) x 4 + 2 = 36 (cm?)
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3 ABCD oA A M,N & 217} B
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12, o I8 22 9 JM}‘?‘;
o] Soltt. BP = 4em &

@ 1lem @126111 ® 13cm @ 14cm ® 15cm

~&B

OABCD 7} HaAtHg o] 22 AO = CO, BO =

M=

U|
S
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s

CM o|E& A P = AABC 9] A ZAlo|t}. PO p

1
~ 3
%X4z2(cm) °]B2 BO = BP + PO =4 + 2 = 6(cm) ©|t}.

w2k BO = DO ©]2 2 BD = 2BO = 2 x 6 = 12(cm) ©]t}.




